Welcome to download the Newest 2passeasy CV0-003 dumps

@ 2 P QsseaQs "J https://lwww.2passeasy.com/dumps/CV0-003/ (144 New Questions)

Exam Questions CV0-003

CompTIA Cloud+ Certification Exam

https:/lwww.2passeasy.com/dumps/CV0-003/

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy CV0-003 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/CV0-003/ (144 New Questions)

NEW QUESTION 1
In an existing laasS instance, it is required to deploy a single application that has different versions. Which of the following should be recommended to meet this
requirement?

A. Deploy using containers

B. Install a Type 2 hypervisor
C. Enable SR-IOV on the host
D. Create snapshots

Answer: A

NEW QUESTION 2
A cloud administrator has finished setting up an application that will use RDP to connect. During testing, users experience a connection timeout error.
Which of the following will MOST likely solve the issue?

A. Checking user passwords

B. Configuring QoS rules

C. Enforcing TLS authentication
D. Opening TCP port 3389

Answer: D

NEW QUESTION 3
A cloud administrator has deployed a new VM. The VM cannot access the Internet or the VMs on any other subnet. The administrator runs a network command
and sees the following output:

The new VM can access another VM at 172.16.31.39. The administrator has verified the IP address is correct. Which of the following is the MOST likely cause of
the connectivity issue?

A. A missing static route

B. A duplicate IP on the network
C. Firewall issues

D. The wrong gateway

Answer: B

NEW QUESTION 4

A cloud administrator is switching hosting companies and using the same script that was previously used to deploy VMs in the new cloud. The script is returning
errors that the command was not found.

Which of the following is the MOST likely cause of the script failure?

A. Account mismatches

B. IP address changes

C. API version incompatibility
D. Server name changes

Answer: D

NEW QUESTION 5

A systems administrator needs to configure an email client to ensure data integrity of the email messages. Which of the following provides the BEST mechanism to
achieve this goal?

A. Cyclic redundancy check

B. SHA-1 hashes

C. SHA-256 hashes

D. Digital signature

Answer: A

NEW QUESTION 6

To save on licensing costs, the on-premises, laaS-hosted databases need to be migrated to a public DBaa$S solution. Which of the following would be the BEST

technique?

A. Live migration
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B. Physical-to-virtual
C. Storage-level mirroring
D. Database replication

Answer: B

NEW QUESTION 7

A systems administrator has finished installing monthly updates to servers in a cloud environment. The administrator notices certain portions of the playbooks are
no longer functioning. Executing the playbook commands manually on a server does not work as well. There are no other reports of issues.

Which of the following is the MOST likely cause of this issue?

A. Change management failure
B. Service overload

C. Patching failure

D. Job validation issues

E. Deprecated features

Answer: D

NEW QUESTION 8
An update is being deployed to a web application, and a systems administrator notices the cloud SQL database has stopped running. The VM is responding to
pings, and there were not any configuration changes scheduled for the VM. Which of the following should the administrator check NEXT?

A. Logs on the VM

B. Firewall on the VM

C. Memory on the VM

D. vGPU performance on the VM

Answer: A

NEW QUESTION 9

A systems administrator is reviewing two CPU models for a cloud deployment. Both CPUs have the same number of cores/threads and run at the same clock
speed.

Which of the following will BEST identify the CPU with more computational power?

A. Simultaneous multithreading
B. Bus speed

C. L3 cache

D. Instructions per cycle

Answer: D

NEW QUESTION 10

A storage array that is used exclusively for datastores is being decommissioned, and a new array has been installed. Now the private cloud administrator needs to
migrate the data.

Which of the following migration methods would be the BEST to use?

A. Conduct a V2V migration

B. Perform a storage live migration

C. Rsync the data between arrays

D. Use a storage vendor migration appliance

Answer: D

NEW QUESTION 10

A cloud provider wants to make sure consumers are utilizing its laaS platform but prevent them from installing a hypervisor on the server. Which of the following
will help the cloud provider secure the environment and limit consumers’ activity?

A. Patch management

B. Hardening

C. Scaling

D. Log and event monitoring

Answer: D

NEW QUESTION 15

Which of the following will provide a systems administrator with the MOST information about potential attacks on a cloud laaS instance?
A. Network flows

B. FIM

C. Software firewall

D. HIDS

Answer: A

NEW QUESTION 20

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy CV0-003 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/CV0-003/ (144 New Questions)

A systems administrator in a large enterprise needs to alter the configuration of one of the finance department’s database servers.
Which of the following should the administrator perform FIRST?

A. Capacity planning

B. Change management
C. Backups

D. Patching

Answer: C

NEW QUESTION 21

Company A has acquired Company B and is in the process of integrating their cloud resources. Company B needs access to Company A’s cloud resources while
retaining its IAM solution.

Which of the following should be implemented?

A. Multifactor authentication
B. Single sign-on

C. Identity federation

D. Directory service

Answer: C

NEW QUESTION 25
A systems administrator is trying to establish an RDP session from a desktop to a server in the cloud. However, the connection appears to be refused even
through the VM is responding to ICMP echo requests. Which of the following should the administrator check FIRST?

A. The firewall
B. The subnet
C. The gateway
D. The services

Answer: D

NEW QUESTION 30
A systems administrator needs to configure a set of policies to protect the data to comply with mandatory regulations.
Which of the following should the administrator implement to ensure DLP efficiently prevents the exposure of sensitive data in a cloud environment?

A. Integrity

B. Versioning

C. Classification
D. Segmentation

Answer: A

NEW QUESTION 33
Which of the following would be the BEST option for discussion of what individuals should do in an incident response or disaster recovery scenario?

A. A business continuity plan

B. Incident response/disaster recovery documentation
C. A tabletop exercise

D. A root cause analysis

Answer: A

NEW QUESTION 36
A company has a cloud infrastructure service, and the cloud architect needs to set up a DR site. Which of the following should be configured in between the cloud
environment and the DR site?

A. Failback
B. Playbook
C. Zoning

D. Replication

Answer: D

NEW QUESTION 40

Which of the following strategies will mitigate the risk of a zero-day vulnerability MOST efficiently?
A. Using only open-source technologies

B. Keeping all resources up to date

C. Creating a standby environment with a different cloud provider

D. Having a detailed incident response plan

Answer: D

NEW QUESTION 44
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An organization suffered a critical failure of its primary datacenter and made the decision to switch to the DR site. After one week of using the DR site, the primary
datacenter is now ready to resume operations.
Which of the following is the MOST efficient way to bring the block storage in the primary datacenter up to date with the DR site?

A. Set up replication.

B. Copy the data across both sites.
C. Restore incremental backups.
D. Restore full backups.

Answer: A

NEW QUESTION 49
After a hardware upgrade on a private cloud system, the systems administrator notices a considerable drop in network performance. Which of the following is
MOST likely the cause?

A. The driver

B. The memory

C. The cluster placement
D. The CPU

Answer: C

NEW QUESTION 50
A company needs to access the cloud administration console using its corporate identity. Which of the following actions would MOST likely meet the
requirements?

A. Implement SSH key-based authentication.

B. Implement cloud authentication with local LDAP.
C. Implement multifactor authentication.

D. Implement client-based certificate authentication.

Answer: D

NEW QUESTION 53
A cloud administrator is planning to migrate a globally accessed application to the cloud.
Which of the following should the cloud administrator implement to BEST reduce latency for all users?

A. Regions

B. Auto-scaling
C. Clustering

D. Cloud bursting

Answer: A

NEW QUESTION 55

A systems administrator has migrated an internal application to a public cloud. The new web server is running under a TLS connection and has the same TLS
certificate as the internal application that is deployed. However, the IT department reports that only internal users who are using new versions of the OSs are able
to load the application home page.

Which of the following is the MOST likely cause of the issue?

A. The local firewall from older OSs is not allowing outbound connections

B. The local firewall from older OSs is not allowing inbound connections

C. The cloud web server is using a self-signed certificate that is not supported by older browsers
D. The cloud web server is using strong ciphers that are not supported by older browsers

Answer: C

NEW QUESTION 59

An organization has two businesses that are developing different software products. They are using a single cloud provider with multiple laaS instances. The
organization identifies that the tracking of costs for each business are inaccurate.

Which of the following is the BEST method for resolving this issue?

A. Perform segregation of the VLAN and capture egress and ingress values of each network interface
B. Tag each server with a dedicated cost and sum them based on the businesses

C. Split the total monthly invoice equally between the businesses

D. Create a dedicated subscription for the businesses to manage the costs

Answer: B

NEW QUESTION 60
A systems administrator swapped a failed hard drive on a server with a RAID 5 array. During the RAID resynchronization, a second hard drive failed.
Which of the following actions will make the server fully operational?

A. Restart the RAID resynchronization process
B. Perform a P2V migration of the server

C. Swap the failed hard drive with a fresh one
D. Restore the server from backup
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Answer: A

NEW QUESTION 62
A VDI administrator has received reports of poor application performance. Which of the following should the administrator troubleshoot FIRST?

A. The network environment
B. Container resources

C. Client devices

D. Server resources

Answer: D

NEW QUESTION 66
A systems administrator is trying to reduce storage consumption. Which of the following file types would benefit the MOST from compression?

A. System files

B. User backups

C. Relational database
D. Mail database

Answer: B

NEW QUESTION 67

A systems administrator is deploying a GPU-accelerated VDI solution. Upon requests from several users, the administrator installs an older version of the OS on
their virtual workstations. The majority of the VMs run the latest LTS version of the OS.

Which of the following types of drivers will MOST likely ensure compatibility will all virtual workstations?

A. Alternative community drivers

B. Legacy drivers

C. The latest drivers from the vendor’s website
D. The drivers from the OS repository

Answer: C

NEW QUESTION 72

Which of the following is relevant to capacity planning in a SaaS environment?
A. Licensing

B. A hypervisor

C. Clustering

D. Scalability

Answer: D

NEW QUESTION 74

A company is concerned about the security of its data repository that contains customer PII. A systems
administrator is asked to deploy a security control that will prevent the exfiltration of such data. Which of the following should the systems administrator implement?

Answer: A

NEW QUESTION 79

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy CV0-003 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/CV0-003/ (144 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual CV0-003 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
CV0-003 Product From:

https:/lwww.2passeasy.com/dumps/CV0-003/

Money Back Guarantee

CV0-003 Practice Exam Features:

* CV0-003 Questions and Answers Updated Frequently
* CV0-003 Practice Questions Verified by Expert Senior Certified Staff
* CV0-003 Most Realistic Questions that Guarantee you a Pass on Your FirstTry

* CV0-003 Practice Test Questionsin Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

